MOS FET FKV460S

Absolute Maximum Ratings (r,-05°c)

Electrical Characteristics

External Dimensions T0220S

(Ta=25°C)
Symbol Ratings Unit Symbol Test Conditions n Ratings Unit
Vbss 40 v min typ max
Vass +20,-10 v ViBriDss | Ip=100uA, Vas=0V 40 v 10.2:03 44402
Ip 160 A Vas=+20V +10 N 1.3102
ID (puise)* 1180 A ass Vos=-10V s | M 1
Po 60 (Tc=25°C) w Ioss Vs =40V, Ves=0V 100 | pA . a6
Tch 150 °C VTH Vps=10V, Ip=250uA 1.3 2.3 \ Bl g Y —
Tstg 55 10 +150 °C Re (yfs) Vbs=10V, Ip=25A 20.0 S El- bDﬁj—‘— & 04793
* Pw=100us, duty=1% Rbs (0N) Vaes=10V, Ip=25A 7 9 mQ ) ) =
Ciss Vps=10V 2800 pF 32 w 1.2702
Coss f=1.0MHz 1400 pF ST | 0.86'8% 0.4101
Crss Ves=0V 600 pF 1.2:02
td (on) ID=25A 20 ns 25405 | 2.54%05
tr Vop=12V 600 ns
td (off) RL=0.48Q 250 ns a) Part No.
t Vaes=10V 100 ns b) Lot No.
Vsp Isp=50A, Vas=0V 10 |15 [ v (Unit: mm)
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